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Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
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2. Chosen option on the right of the question indicates the option selected by the candidate.

! g gz & g F¥ I FeT Soh ¥ geg a9 &

A5, F11, K24, P51, T105, 2217
ans K1 F1

v 2 T105

X s P51

X4 7217

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115286

94891121141
94891121143
94891121142
94891121144
Not Answered




Q.2 zwa (UN) Goam 9iwe o F 3UTs FeEd §1 3o gd FErEsT g et wate & B G amar
X

Ans x 1 4 5
X233
V32 gy
X4 5 g%
Question ID : 9489115034
Option 11D : 94891120135
Option 2 1D : 94891120134
Option 31D : 94891120133
Option 4 1D : 94891120136
Status : Answered
Chosen Option: 3
Q3 g Ffue ¥ fFw wee F darar #R ey e amee ¥ wEft s anfae §2
Ans :
v a BHTLEEJ 243
X 2 FT=E 21
x 3 yﬂt—;}a 51 A
X 4. 3eT=g 270
Question ID : 9489115027
Option 11D : 94891120107
Option 2 ID : 94891120106
Option 31D : 94891120108
Option 4 1D : 94891120105
Status : Answered
Chosen Option : 1
Q4 v ages & Fi F G 1: 30 40 7 § TG 75 IR wAG OR For H A FFR A
Eared]
A of 1 144°
< 2 145°
X 3 140°
X 41200
Question ID : 9489115170
Option 11D : 94891120679
Option 2 1D : 94891120680
Option 31D : 94891120678
Option 4 1D : 94891120677
Status : Not Answered

Chosen Option :




Q5 37 37 W F TUT FF A HEAET IO F T F g9y # gafcaw w9 ¥ g r B

T, TERe =eET, ST

Ans

v

=00

X 3

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option

9489115296
94891121184
94891121181
94891121182
94891121183
Answered

03

¥ e TR ReE FET g ¥
Ans 1. HERTSE

X2 AT

V'S TeT gEr

X 4 3ok geur

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115013
94891120051
94891120050
94891120052
94891120049
Answered

3




Q7 1942 # fFw wuraEd & FEaER e e (Cripps Mission) TR T am?
Ans X1 e TEST (Clement Attlee)

X 2. EeTeir drestad (Stanley Baldwin)

X 3. YHY HFsaes (Ramsay MacDonald)

v . faEeT e (Winston Churchill)

Question ID : 9489115021
Option 11D : 94891120082
Option 2 ID : 94891120081
Option 3 1D : 94891120084
Option 4 1D : 94891120083
Status : Answered
Chosen Option : 3
Q.8 . .
39 95 FT gg=d 7 I @eT Ao ¥ gEfog J@r gl
213, 556, 11R9, 16Q12, 23P15
Ans 1. 23P15
< 2 11R9
<3 2T3
v 4 16Q12
Question ID : 9489115288
Option 11D : 94891121149
Option 2 1D : 94891121151
Option 31D : 94891121150
Option 41D : 94891121152
Status : Answered
Chosen Option : 4
Q9 & T 74,600 #F v =T & T, $EF I FEW F € 37T Fo # I @ e, A 3w
a1 =9 75,406 # ==, maﬁe%m'ﬁm e F & & FEe # fraer @ Far
Ans 1. 3450
v 2 3500
< 3 32400
< 4 2600
Question ID : 9489115156
Option 11D : 94891120624
Option 2 ID : 94891120621
Option 31D : 94891120622
Option 4 1D : 94891120623
Status : Answered
Chosen Option : 2




Q10 35z &l (Ulat Bansi) Brg o & &1 wF Rftre deee §72

Ans

v FET
K 2 #ATH

X 3 T
K 4 JPRIH

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

1 9489115008

1 94891120031
1 94891120030
1 94891120029
1 94891120032

Status : Answered
Chosen Option : 3

o1 004+ V1.44 +1.69 +/0.0000 T AT AT AT

Ans  X'1.10.3
X2 203
3 273
< 41.70
Question ID : 9489115150
Option 1 1D : 94891120600
Option 2 ID : 94891120599
Option 3 ID : 94891120598
Option 4 ID : 94891120597
Status : Answered
Chosen Option : 3
Q.12
9T & JHTT ATH FT 87
Ans .
X 1. @grEe =1F (White lead)
X< 2 5% =g (Zinc white)
/< 3. gor T (Pearl ash)
v+ FIFi@eaT (Quicksilver)
Question ID : 9489115015
Option 11D : 94891120059
Option 2 ID : 94891120058
Option 31D : 94891120060
Option 4 1D : 94891120057
Status : Answered
Chosen Option : 4




P GffE § @ FiF @ amseqe oy A6 R

ns X1 w T
< 2 gmifaex
<3 e
v TR
Question ID : 9489115037
Option 11D : 94891120146
Option 2 1D : 94891120145
Option 3 1D : 94891120147
Option 4 1D : 94891120148
Status : Answered
Chosen Option : 4
Q14 g & s ¥ FF MERT T F FET (GM) FHT F FeEd T B F A & T8 32
Ans :
<. Fea (GM) TTar
X 2 €1Er (Bt) 3Te]
v 3 & (Bt) FuTH
X 4 &rér (Bt) doaT
Question ID : 9489115030
Option 11D : 94891120117
Option 2 1D : 94891120120
Option 31D : 94891120118
Option 4 1D : 94891120119
Status : Answered
Chosen Option : 3
Q15 =7 fpeT &1 == Fifw, S AWY aeg ¥ 36 YER TR §, B 9N gET aeg e oeg @
et |
e §
AT 99T ¢ UHATET  AERTT : ?
Ans « 1 W&
X2 dE
X 3 AT
X 4 goY
2
Question ID : 9489115295
Option 11D : 94891121180
Option 21D : 94891121178
Option 31D : 94891121177
Option 4 1D : 94891121179
Status : Answered
Chosen Option: 3




Q16 = & Fla T 2o F 2018 F Frwr (FIFA) 27 F $r Foawr $r o6

Ans X1- % ﬁ

<2 e
v wH
X 4 FaT
Question ID : 9489115004
Option 11D : 94891120013
Option 2 ID : 94891120014
Option 31D : 94891120015
Option 4 ID : 94891120016
Status : Answered
Chosen Option: 3
Q.17 A, B 3 C, vs S # FAw 36, 54 AR 72 o F 0 X wH I TH WA FE FEA LR
o, 3fas A 5 18 U B9 ¥ 8 e Tee w1 o Ram, et B A e oqm Ee @ 12 R Tmer
F4 o5 G C 7 39 haw e w Bear
A
"X 40
K228
K3 32
v 24
Question ID : 9489115163
Option 1 ID : 94891120649
Option 2 ID : 94891120650
Option 3 ID : 94891120651
Option 4 ID : 94891120652
Status : Answered
Chosen Option : 3
Q18 PmRfRa 7 ¥ By Ve & SHr & gafs es w7 veF aiad e 87
Ans g
# 1. & T (Katie Ledecky)
v 2. FEFH Hoed (Michael Phelps)
X 3. TgTT &= (Ryan Lochte)
X 4 7R fBIesr (Mark Spitz)
Question ID : 9489115006
Option 11D : 94891120024
Option 2 1D : 94891120023
Option 31D : 94891120022
Option 4 1D : 94891120021
Status : Answered
Chosen Option : 2




Q19 ¢ 2 3 . n & T99 SRERAT F WY T 1, 2, 3, 4, ., n F AT AT FAT

Ans n—1
- [P .-
2
Zn== 1
X 2
3
n+1
X 3
2
, Zn+ 1
v
3
Question ID :
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID
Status:
Chosen Option :

9489115173
94891120692

1 94891120690
1 94891120689
194891120691

Answered
1

Q.20 v = T W U UfET & 35 FE &9 w9 §1 v A omet wel AT e §1 gy Hie A
TR O ¥ 15§ T W ¥ AW o & apr Hie &3 & T i

e o ot
<2 23
<3 204
<4 228t
Question ID : 9489115301
Option 11D : 94891121203
Option 2 ID : 94891121204
Option 3 1D : 94891121202
Option 4 ID : 94891121201
Status : Answered
Chosen Option : 1
Q21 sw =t A B CRDATHE FE F Far 2 h, 2 h, 2h 3t 2 h & qu B Feeffee # 3
s w1 U e & w0 weEw e
Ans x T A
voC
X3B
Xa4D
Question ID : 9489115149
Option 11D : 94891120593
Option 2 ID : 94891120595
Option 3 ID : 94891120594
Option 4 ID : 94891120596
Status : Answered
Chosen Option : 2




Q.22 ofgam d9mer # 73, 2020 F HC =TFaTF FFEH (Cyclone Amphan) & 3EITH T Hid @7 §72

Ans 1. 3TE WER
X2 QFI'F-II'—EI?!I
W 3 g Fr WIS
X 4 BRE FHr @Er
Question ID : 9489115005
Option 11D : 94891120017
Option 2 ID : 94891120020
Option 31D : 94891120019
Option 4 ID : 94891120018
Status : Answered
Chosen Option: 3
Q.23 31 RoEy 1947 & #Rg #r FfEue T3 F el & ¥ i T 99 77 Rttt sfeas o
Ans x '
1. aa-é;
< 2 AGTH
v TgEd 9T
X 4 of¥gy F9me
Question ID : 9489115028
Option 11D : 94891120110
Option 21D : 94891120109
Option 31D : 94891120112
Option 41D : 94891120111
Status : Answered
Chosen Option : 1
Q24 A B CDEF iRGHFF A BHAE B CH si=n & C, D = goeltar 7 &, D, B &1 =0
LEFFagm i s FR S wr i 3 F D& afd & & E & A & @ w9y £7
Ans «
I gfe
X 2 §gF &1 9fy
]
X 3 AT FT A
X4 ¥
Question ID : 9489115278
Option 11D : 94891121110
Option 2 ID : 94891121112
Option 31D : 94891121111
Option 4 ID : 94891121109
Status : Answered
Chosen Option : 3




% FEART g Hre:

1+ 0+ 57 () v 9) -2

Ans 1
1
X
, X+ 4
it ¢
X
Xo 14—
e
X+ 4
K4 x+4
Question ID :
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID
Status:
Chosen Option :

9489115146
94891120583

1 94891120584
1 94891120581
1 94891120582

Answered
1

Q.26 e &=t Fr =Tet T A 2 ¢ 3 ¢ 6 F| 3 {owNiEA gEW AW gl a9 O & o Il T

Ans  X1.2:3:5

M
2. i
2 3 3
<3 6:12:18

K42:3:4

Question ID

Option 1 ID

Option 2 ID

Option 31D :

Option 4 ID

Status :

Chosen Option :

19489115161
1 94891120641
1 94891120642

94891120643

1 94891120644

Answered
2




027 oo Ao gHERUT A x F GAIRG A AT R

25
12
Ans 19 6
1R
25 25
PR P
25 25
X s 12 13
25 25
8 17
r o
Zh 25
Question ID : 9489115166
Option 11D : 94891120662
Option 2 1D : 94891120661
Option 31D : 94891120663
Option 4 ID : 94891120664
Status : Not Answered
Chosen Option : --
Q.28 R wieZFBERT (recognition technology) &, OMR = 39T 2T &, $8F M &1 90T ¥7 1 &7
Ans .
X 1. #zAfew (Magnetic)
X 2. #HAerT (Manipulator)
v 3 ATFE (Mark)
&< 4 TBRTET (Mirroring)
Question ID : 9489115036
Option 11D : 94891120141
Option 2 1D : 94891120144
Option 31D : 94891120142
Option 4 1D : 94891120143
Status : Answered
Chosen Option: 3




4?2 AT ¥ A9 799 ST

1[}+J221+ 12++16

Ans J 1.

X
w
B O Ww o

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115145
94891120579
94891120577
94891120580
94891120578
Answered

4

930 FremRor s F BFE @ W AS I 10 I F w4 FHr A @ e

Ans X 1. 25%

V' 10%
X3 15%
X 4 20%
Question ID : 9489115154
Option 11D : 94891120616
Option 2 1D : 94891120613
Option 31D : 94891120615
Option 4 1D : 94891120614
Status : Answered
Chosen Option : 2
Q31 (54)% _p.064
FT AT AT HITAT
(5.4)2 +2.16 + 0.16
Ans x 1. 8
<236
<33
vi5
Question ID : 9489115167
Option 11D : 94891120668
Option 2 ID : 94891120666
Option 31D : 94891120665
Option 4 ID : 94891120667
Status : Not Answered

Chosen Option :




Q32 ‘Heavy water’ is a term related to which of the following?

Ans X 1. Pharmaceutical industry
« 2. Nuclear power generation plants
/< 3. Fertilizer industry

/< 4. Hydro-electric power plants

Question ID : 9489115012
Option 11D : 94891120047
Option 2 ID : 94891120046
Option 31D : 94891120048
Option 4 ID : 94891120045
Status : Answered
Chosen Option: 2
Q.33 = oot 28 m S SN AW FER WF F AN P T T TSN AT T E, A1H TedE T
HTEe HidAT & &l & AT A T TR ARG TR BT F 3 F &9 & Al T8 o, = et S 98
ﬁzﬁ,aﬁ?zzﬁﬁamfamﬁra:ﬁvmzﬁ,a‘ragm,m?m"rﬁrqgwﬁmeﬁ,sﬂﬂm‘rﬁ
e fim ow Ree & B w2 gef, oft A5 5% @ 3 § sk 9t I A s & aeT we
T [Ae AT 1 =
Ans x 1. 4
V286
<37
<45
Question ID : 9489115165
Option 11D : 94891120659
Option 2 ID : 94891120658
Option 3 1D : 94891120660
Option 4 1D : 94891120657
Status : Not Answered
Chosen Option : --
Q.34 + * . : . %
féigaga@ Fas7 (Lion Capital pillar) Fgr e g2
Ans [ =
X1 AT TEed
W 2 gIATYT
X s s feew
X 4 et
Question ID : 9489115009
Option 11D : 94891120035
Option 2 ID : 94891120036
Option 3 ID : 94891120034
Option 4 1D : 94891120033
Status : Answered
Chosen Option: 2




Q.35 Who among the following personalities has been awarded the Gandhi Peace Prize in 2018 for his/her contribution to
leprosy eradication?

Ans 2 1. Harriet Tubman
#< 2. Nelson Mandela
#< 3. Jane Addams
v 4 Yohei Sasakawa

Question ID : 9489115007
Option 11D : 94891120025
Option 2 ID : 94891120027
Option 3 1D : 94891120028
Option 4 ID : 94891120026
Status : Answered
Chosen Option : 3
.36 : : :
Q3 Fdrew (GPS) & Tes &, falaad § ¥ #i9 @ &9 e &7
Ans
X130 = ¥ fAfaa & #
X2
SHST qUT &7 Feiiferdr S f&wea (Galileo Positioning System) g1
Vs
99a 3R RfesT i, Sy (GPS) faeae & T arer a9 @oa 21
X 4
SHH qUT FF Talaad coltaer faEeA (Global Placing System) gl
Question ID : 9489115032
Option 11D : 94891120125
Option 2 ID : 94891120127
Option 31D : 94891120128
Option 41D : 94891120126
Status : Answered
Chosen Option : 4




¥ 3H HER-TTH B TEE HY, A THg ¥ waOd 4 L

B-F
W-A
M-Q
Ans - X1 M-Q
< 2 B-F
V3 TY
<4 W-A
Question ID : 9489115299
Option 11D : 94891121195
Option 21D : 94891121193
Option 31D : 94891121194
Option 41D : 94891121196
Status : Answered
Chosen Option : 3
Q38 ey ufir & 32% F 40% FT 60%, 3432 F F{ET &1 TR (2 F) 79 HfEw?
Ans 1. 5,605
v 2 5625
X 3 5,655
< 4 5525
Question ID : 9489115155
Option 11D : 94891120619
Option 2 ID : 94891120617
Option 31D : 94891120620
Option 4 1D : 94891120618
Status : Answered
Chosen Option : 2




Q.39 arm 3k @w F @7 Bug FRET g (Karakoram pass) @FF T3 &0 sad ¥ B0d Fee Tuw

&7
Ans (
I R
< 2 gaTEIE
A3 garr
FASEA iy
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489115022
94891120087
94891120088
94891120086
94891120085
Answered

3

Q40 +ma F 57 § TFW FFTA ATEE F S B OAIS FH AT TN FRGE TN F FOAFAS &
o

X 2. TEGT AE FTH
X 3. emg=tgr
v SEETR

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489115019
94891120074
94891120073
94891120076
94891120075
Answered

4

Q41 s WY @ S W Heede WAl % A (abolition of titles) @ GRAREA Hwar £7
MK e 22

x 2 Hﬂﬁﬂ"?\?»

3 Hﬂﬁﬂ' 18

X 4. HJ=5G 25

Option 1 ID
Option 2 ID

Option 4 ID

Question ID :

9489115035

194891120137
194891120138
Option 31D :
194891120139

Status :
Chosen Option :

94891120140

Answered
4




Q.42 frw aw Yo F1 AT eI F{ R fr av fawedl § ¥ 3@ gm o &Y, A s wed

RIET (7) & TUE W 37 Fhar B

5O o

ans K190
X272
V'3 36
< 4 100
Question ID : 9489115302
Option 11D : 94891121207
Option 2 ID : 94891121205
Option 3 1D : 94891121208
Option 4 1D : 94891121206
Status : Answered
Chosen Option: 3
Q43 Every year ‘ease of doing business index’ is released. It is released by:
Ans o 1. World Bank Group
#< 2. Harvard Business School
/< 3. International Monetary Fund (IMF)
< 4 World Economic Forum
Question ID : 9489115040
Option 11D : 94891120158
Option 2 1D : 94891120160
Option 3 ID : 94891120157
Option 4 1D : 94891120159
Status : Answered
Chosen Option: 3




4 ST e & AT A9 AT

V225 . \/196x V484
14 22 15

Chosen Option :

Ans x 1.2
<23
Vs 1
X414
Question ID : 9489115144
Option 11D : 94891120573
Option 2 ID : 94891120575
Option 3 ID : 94891120576
Option 4 ID : 94891120574
Status : Answered
Chosen Option: 3
Q.45 = - i i
wTHs (NSE) (Fael Fie THaslsl A% $i2a) & Jeued & [Fud 87
Ans X
1. T
X 2 9or
2
3.
v TS
X4 7% T
Question ID : 9489115042
Option 11D : 94891120168
Option 2 ID : 94891120166
Option 3 ID : 94891120167
Option 4 ID : 94891120165
Status : Answered
Chosen Option : 3
Q.46 If V stands for operation “adding the first number to thrice the second number™, then the value
of (4V5)Ve will be:
Ans X135
<2 114
X3 54
v 4 37
Question ID : 9489115151
Option 11D : 94891120601
Option 2 1D : 94891120603
Option 31D : 94891120602
Option 4 ID : 94891120604
Status : Not Answered




Q47 grmrera FiY frerm dsEr (PKVY) ¥ ot & feefafld & @ #i9 @1 Fuw of 78 17

Ans

X 2

X 1. SHET YA 3, 2015 F v =aw om|

&0 T % e weds Gha @ A, waet $ wers T U #1 gens % B dw =F F 220,000

gfer TeE & M Ter= Fr Frwed)

X 3

50 JfaF AN A g & F AT F Ty v

4 g7 st & 2,00,000 FEEET FATT AT

Question ID : 9489115043
Option 11D : 94891120169
Option 2 1D : 94891120172
Option 31D : 94891120170
Option 4 ID : 94891120171
Status : Answered
Chosen Option: 2
Q.48 .
fo@a o= &1 A Fg Hifaw
103 —[144+(12x12)+5+12+(6—2)+10]
Ans o 1. 84
<2 86
<390
< 4 85
Question ID : 9489115153
Option 11D : 94891120609
Option 2 ID : 94891120611
Option 31D : 94891120612
Option 4 ID : 94891120610
Status : Answered
Chosen Option : 1
Q49 gF A<B<C>D<E>AZ%g o faf@a & & =la o Tr=s Smer o7 a&ar §72
Ans X1LE>C>D
v2C>A<E
X3 A<D<B
X4+B>A>E
Question ID : 9489115298
Option 11D : 94891121190
Option 2 ID : 94891121192
Option 31D : 94891121189
Option 4 ID : 94891121191
Status : Answered
Chosen Option : 2




Q.50 frw o ¥ 7w av9 T § FE F s & v e & w9 # AR e o ¥ e

Fr aferedar & of?

Ans
v . #AR.&. aRIOT (R. K. Narayan)
XA 2 @ dr. F T (B. V. Karanth)
X 3 Frfrer FATS (Girish Karnad)
X 4 TR, 3" (U. R. Ananthamurty)
Question ID : 9489115010
Option 11D : 94891120039
Option 2 ID : 94891120040
Option 3 ID : 94891120037
Option 4 ID : 94891120038
Status : Answered
Chosen Option: 3
O mmasttana0” o o AP
1+tan45°tan30’
Ans
X1 2443
<21
X3 43-2
Vi 2-43
Question ID : 9489115171
Option 11D : 94891120681
Option 2 ID : 94891120684
Option 3 ID : 94891120682
Option 4 ID : 94891120683
Status : Answered
Chosen Option : 2




Q.5

2 2 z z
o x+y+z=0%¢, a‘r:r—z+"z’—t+:—y FT AT A HITAT

A
X1 x2+y?+z?
PR )
X Z
X2 ¥ E
V33
x 4 3x? + 3y? + 3z2
X
Question ID : 9489115147
Option 11D : 94891120586
Option 2 ID : 94891120585
Option 3 ID : 94891120588
Option 4 ID : 94891120587
Status : Answered
Chosen Option : 3
Q.53 afy Gl 3rg &1 fawa T, 53U W we F E o F 3 I F aa ¢ R iy g v aftus,
Sfeera aMsT % e g, & Ya B T ge At w7 gr 1 e aw S
Ans  of 1.5 12
MX27: 1
r R R
K47:6
Question ID : 9489115160
Option 11D : 94891120640
Option 2 ID : 94891120638
Option 31D : 94891120639
Option 4 ID : 94891120637
Status : Answered
Chosen Option: 3
Q.54 o yma & ar HEAS AT F T 3 : 4 F1 A FHFr ST 42 om F, & Fawor Fr dw =
EaiE
Ans X130 em
v 215 cm
<3 25 cm
< 4 35 cm
Question ID : 9489115169
Option 11D : 94891120674
Option 2 ID : 94891120676
Option 31D : 94891120673
Option 4 ID : 94891120675
Status : Answered
Chosen Option : 2




Q55 10000 ¥ W& Wl fraer FEAT §, S 21, 35 3R 63 ¥ QoI fys=y #2

Ans  of 1. 31
<2 32
<3 30
X 4 34
Question ID : 9489115148
Option 11D : 94891120592
Option 2 ID : 94891120589
Option 31D : 94891120591
Option 4 1D : 94891120590
Status : Answered
Chosen Option : 4
Q.56 R 7w e F AEEH HeETA w AR 3@ TEA F TET FY, S S T B (7) & e ) oaT
TR B
O V= M08
D = B
|:| " ﬂ = 7,7
Ans X 1. 30, 29
X 2 40, 42
<318, 10
v 4+ 16, 15
Question ID : 9489115303
Option 11D : 94891121209
Option 2 1D : 94891121212
Option 31D : 94891121210
Option 4 1D : 94891121211
Status : Answered
Chosen Option: 3
057 frafafee & @ fredr i @ aufuar 3R FAR TR A TR 3 e B
e K Efems
<2 Feaf@Ea K
<3 Reaf@aa C
v afEa A
Question ID : 9489115014
Option 1 ID : 94891120055
Option 2 ID : 94891120056
Option 31D : 94891120053
Option 4 1D : 94891120054
Status : Answered
Chosen Option : 4




Q58 Zfr (14 tanA)(1+tanB)=2 ¥, &t tan(A+B) & AT AT T

Chosen Option :

Ans X 1.0
v 1
K3 2
K42
Question ID : 9489115172
Option 11D : 94891120686
Option 2 ID : 94891120685
Option 31D : 94891120688
Option 4 ID : 94891120687
Status : Answered
Chosen Option : 2
Q.59 s FAMAST ded (Symmetric Distribution) ¥ 3w, Aren, arfemsr it Fgerh F FANIE Hew FT
g
Ans -
xmag?»la—?-m—smﬁua;r-mm
Vo FIET = ACTH = goI
X 3 SgOIS - AT = 3 (AT - AT
X 4 HTET > ATCTR > sgerh
Question ID : 9489115168
Option 11D : 94891120671
Option 2 ID : 94891120670
Option 31D : 94891120672
Option 4 ID : 94891120669
Status : Answered
Chosen Option: 3
Q.60 A, B 3t C v Ty v R RiETT F o gEer g e § AR w425, 63 s v 84 s
# TH-TH THHT U B o1 ToA YF A & Tohael GHT A F T ARA fag W B
Ans X1 256 s
<2 452 s
<3152 s
W4 252 s
Question ID : 9489115152
Option 11D : 94891120606
Option 21D : 94891120608
Option 31D : 94891120605
Option 4 1D : 94891120607
Status : Not Answered




Q.61
Afa (NITI) HTIRT &7 T8 I TRT TTT Al
Ans
v 11 FF98, 2015
X 21 3%, 2014
A3 1 f&gs, 2015
X 41 3%, 2016
Question ID : 9489115039
Option 11D : 94891120154
Option 2 ID : 94891120153
Option 31D : 94891120155
Option 4 ID : 94891120156
Status : Answered
Chosen Option : 3
Q.62 =fy LIT #r 123 % =7 &, LEFT 31 4512 % 77 & 3 YELL #1 2247 % &7 & Feas hw @w &, &
FLY F e g Far gem?
Ans X1, 623
v 2 527
< 3 475
X 4 741
Question ID : 9489115280
Option 11D : 94891121120
Option 21D : 94891121119
Option 31D : 94891121118
Option 4 1D : 94891121117
Status : Not Answered
Chosen Option : --
Q63 g & Ui T F AN SR woERT SES oeE e @ fowwm e 7
Al +
ns « . 7 ﬁ
X 2 smETae, Arar
X o GRIOT
X 4 AT FAT
Question ID : 9489115029
Option 11D : 94891120114
Option 2 1D : 94891120116
Option 31D : 94891120113
Option 4 1D : 94891120115
Status : Answered

Chosen Option :

1




Q.64 smfvaes (IMF) 3t fea 8% 1 7o 1944 & gam Tl 3o FEUE e UR F e 2
Ans X1 HF%

X2 o

<3 Bar

v ¢ FrfieTee S

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115033
94891120131
94891120129
94891120132
94891120130
Answered

1

Zaffar &2

MK A - e - A 3 - e
X 2 TEE - FE HAS - A - gl
V' TES - A - AT A - T
X 4 A - A - AR AT - AT

Q.65 frm=fafee & & #ia o wHat F1 2019-20 & N 9N # 3% IES & FE HEE FH & HFARX

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115024
94891120093
94891120096
94891120095
94891120094
Answered

1

X

ans X1 BIT
X2 CPM
X3 LPM
v 4 PPM

Q.66 amyfes Rex & 7y (Speed) Fr 7o F F v PrEAtEw F F vw sws @ sw@E GRar e

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489115038
94891120152
94891120149
94891120150
94891120151
Answered

4




O Sgerem A & T A 2

Ans 1. Shogul
X 2. Farsuy AT
< 3. Theared
W 4 ST o
J. .
Question ID : 9489115017
Option 11D : 94891120066
Option 2 ID : 94891120065
Option 3 1D : 94891120067
Option 4 1D : 94891120068
Status : Answered
Chosen Option : 2
Q.68 e frsrar v TEG, 3500 F wiear § A 3¢ 550 F AT F1 9T o A" A
ans X1, 15%
v 2 10%
< 3 5%
X 4 20%
Question ID : 9489115157
Option 11D : 94891120627
Option 2 ID : 94891120626
Option 31D : 94891120625
Option 4 1D : 94891120628
Status : Answered
Chosen Option : 2
Q89 =7 FEar # TEA Y, A 5@ Ao F WA REA (?) F T W A Fhar 2
14, 2, 28, 3, 84, 4, ?
Ans 1. 268
< 2 198
X 3 202
v 4 336
Question ID : 9489115284
Option 11D : 94891121135
Option 2 1D : 94891121133
Option 31D : 94891121134
Option 4 1D : 94891121136
Status : Answered
Chosen Option : 4




V0 afr x*+ 2 =18% A x+ 1 F A W A
Ans ?(1~ 9

<21
V33
<4 4
Question ID : 9489115164
Option 11D : 94891120656
Option 2 ID : 94891120655
Option 31D : 94891120653
Option 4 1D : 94891120654
Status : Answered
Chosen Option : 3
Q71 3gfem ve e Fsfee 24,000 # @ied ¥ 3t 5w AEAT % BT 2400 @9 waT §1 A% 9% 39
Trsferer 1 25,000 # F=ar &, O s gfoe @t W fifew
Ans 1
X113 —%
11
V2139
11
X375 %
: S | |
11
Xe 70 %
: Sy J | |
12
Question ID : 9489115158
Option 11D : 94891120629
Option 2 ID : 94891120630
Option 3 1D : 94891120632
Option 4 1D : 94891120631
Status : Answered
Chosen Option : 3
Q.72 3w fawreT @ o H, S T Tl # veEg@y @ 9@ @ev §, S Ry v 95-giA F 96 & a9 g
DMO : WNL
Ans X 1.DQG : ELP
<2 CFH : XUT
v3 GHI : TSR
< 4 ZAT : EGD
Question ID : 9489115275
Option 11D : 94891121097
Option 2 1D : 94891121098
Option 31D : 94891121099
Option 4 1D : 94891121100
Status : Answered
Chosen Option : 3




P s @ i W g EEunEd e # gEar 17

s XL ofx
v &) AP
X 3. gEEIrd
X 4 FHarer
Question ID : 9489115023
Option 11D : 94891120089
Option 2 1D : 94891120092
Option 31D : 94891120090
Option 4 1D : 94891120091
Status : Answered
Chosen Option : 2
Q.74 g TS FEE 1 9ger HUde 1885 F wifera AT T ATl SHT AN S & O T
# B T ar?
Ans ( *
-
X 2 gear
X< 3. AgTH
X 4. FeldhedT
Question ID : 9489115020
Option 11D : 94891120079
Option 2 ID : 94891120077
Option 31D : 94891120080
Option 4 ID : 94891120078
Status : Answered

Chosen Option

|




Q75 3g 37 3@ H T F A eAfatla o=t F S F gey # gafcaw w9 @ g

(@

© O

069
ROTD

x 1.

_

v

N

X 4

Question ID : 9489115297
Option 11D : 94891121187
Option 2 ID : 94891121185
Option 31D : 94891121188
Option 4 ID : 94891121186
Status : Answered
Chosen Option : 2

Q76 siagedr siafer Tuw (ISS) & a) & fPnafofla & ¥ &7 o #u= o 2
M T g Fr e wer & v ¥

X 2 gmF 2050 9 H=TAA H HT 1 $r 3FEAE 2

< 3

IZ AT ® W JTAT (USA) 3R & ganrr samar o g
X 4

Faor guaT (USA) A fia & siafer ot & & smdvaww (1SS) & = & sgafa €1

Question ID : 9489115031
Option 11D : 94891120122
Option 2 ID : 94891120123
Option 31D : 94891120121
Option 4 ID : 94891120124
Status : Answered
Chosen Option : 1




77 Trem #r gEw 9 TATE-TAT (coral reef) FET TE AET &2

ans o1 Ry
X 2. F9T
<3 Rreirdie
v o arEeferm
Question ID : 9489115026
Option 11D : 94891120104
Option 2 ID : 94891120101
Option 31D : 94891120103
Option 4 1D : 94891120102
Status : Answered
Chosen Option : 4
Q.78 Fafyw iR vs ylE AMEETEr OER 31 ¥F RS ¥ 98 ¥ R Eew T= § #amr o 2
Ans « :
1. mﬁg
< 2 37Ul 9T
X3 TEERE
X 4 HEH
Question ID : 9489115018
Option 11D : 94891120070
Option 2 ID : 94891120072
Option 31D : 94891120071
Option 4 1D : 94891120069
Status : Answered
Chosen Option: 3
Q.79 2011 &r FewrET F gER, FfRRE § ¥ P9 W 75T §RE F T FH 0wl 1T 87
Ans XK1 e
<2 fEr
X 3 HEH
v o fgATEe geur
Question ID : 9489115025
Option 11D : 94891120100
Option 2 ID : 94891120098
Option 3 1D : 94891120099
Option 4 ID : 94891120097
Status : Answered

Chosen Option :

1




W = F A T F T A AT & ¥ Fi o 5T 3T 3

Ans

Vi TErE A ST AT E

X 2 Ug FEoaIadr SaRT SEAT T

X3 T 9% TEIT A TEr WA & e wa §
X 4+ 7g uR FEa= # Alsg vF 7@ goea 7

Question ID : 9489115016
Option 11D : 94891120064
Option 2 ID : 94891120061
Option 3 1D : 94891120063
Option 4 1D : 94891120062
Status : Answered
Chosen Option : 2
Q.81 316,000 @ruﬁwmm#awza&ﬁaﬁaymmaﬁtmmwm
21,000 o] ANi¥e =41 7 2T AT Hifom)
Ans - X1.10%
<2 12%
Vs 25%
< 4 50%
Question ID : 9489115159
Option 11D : 94891120633
Option 2 ID : 94891120636
Option 31D : 94891120634
Option 4 1D : 94891120635
Status : Answered
Chosen Option: 1
Q82 = AdRBFT I kmh R4 kmhFITa T F g sE i I
foer & 3 9gd € o 6 h A 3% A= Hr gl Fraer @
Ans X103 km
v 2 6 km
< 3 4 km
< 4 9 km
Question ID : 9489115162
Option 11D : 94891120647
Option 2 ID : 94891120646
Option 3 ID : 94891120648
Option 4 ID : 94891120645
Status : Answered
Chosen Option: 2




Q83 wwhich of the following does the work of linking all the ATMs in India?

Ans

7< 1. Securities and Exchange Board of India

+ 2. National Payments Corporation of India

/< 3. National Institute of Banking and Management
/< 4. Reserve Bank of India

Question ID : 9489115041
Option 11D : 94891120161
Option 21D : 94891120163
Option 31D : 94891120164
Option 41D : 94891120162
Status : Answered
Chosen Option : 3
Q.84 R a1w det F1 AT FWAS F AT IW TEA F T F, A FFH goA e (?) F v W
T FFAr B
= 4[B+p)+(@E+q)+ (@+0)]
=> 5[4+3)+(3+2)+(5+5)] =110
Ol -
Ans 21100
v 2 144
<3 96
<4120
Question ID : 9489115300
Option 11D : 94891121198
Option 2 1D : 94891121199
Option 3 1D : 94891121200
Option 4 ID : 94891121197
Status : Not Answered

Chosen Option :




% Hrsr aex # i & g I A 2
Ans X‘Im

K 2 AEgSA

V'3 FET TRITFEES

X 4 grEgete

Question ID : 9489115011
Option 11D : 94891120043
Option 2 ID : 94891120041
Option 31D : 94891120042
Option 4 1D : 94891120044
Status : Answered
Chosen Option : 2
Q.86 &gy 7w I 7 ast & ST & F9fAEt A 3t B ¥ so9es (9K #r HEar H) #r gofer ¥ o &+
HeTe i AR rtefEa 9w &7 3a &)
s &
I® &
o ©
1K o
5 — o
ok o o
I3 —0
i.
{FZs¥ - production of two companies, A and B, over the 7 years - 7 Fut & 20 ar Fafaar A 3T
B = 3791E4, in thousand numbers - g7 fi‘}
&9 B % e, 2017 ¥ 2018 7% 3oured & g% wfor iy A &)
Ans  of 1. 50%
X 2 20%
< 3 15%
< 4 25%
Question ID : 9489115289
Option 11D : 94891121155
Option 2 1D : 94891121154
Option 31D : 94891121156
Option 4 1D : 94891121153
Status : Not Answered
Chosen Option : --




Q.87 = for ar o1$ = ama & RfEew vod ¥ Rt comwdt @ 9 On & TEm & afvean
s 1 G 2l

SHIT=TT (Engineer) TF F AT 91 91C & Fg W T F0T BT 70 Fedi 7 & s au=t 2em?
Ans o 1. 108°

< 2 90°

< 3. 95°

X 4.100°

Question ID : 9489115290
Option 11D : 94891121160
Option 2 ID : 94891121157
Option 31D : 94891121158
Option 41D : 94891121159
Status : Answered
Chosen Option : 3

Q.88 Tz am I ImE 2015 AR 2016 F wF Fu= Fr FfEe= om@nad, B1, B2, B3, B4 3K B5 I@wr
3T AR H-EE (AR #) H Fo WG H G g1 WE F eEsS L AN Feafaad v
T 3T &

o5 L s

m

[

MI
&

P

=

m
[

=

&

Branches of Company
@

@
2

w

Ed

=

10 20 30 40 50

NUMBERS OF WIRELESS KEYBOARDS
{IN THOUSANDS)

m2016 m2015

T3S : FIAT FT AT@T (branches of a company), IRRAT HI-aTE FHT TEIT (humber of wireless
keyboards), (=R #) (in thousands)

2016 # om@T B4 EIT 3o aTIRe Hr-atE Fr TEan, 2015 # R o AR Soied STaked -
§% & TEaT & aueEt 87

e 1 FEer BT
X 2 Faer B2
<3 B3 3k B5
«< 4 B1 3k B3

Question ID : 9489115291
Option 11D : 94891121164
Option 2 ID : 94891121161
Option 31D : 94891121162
Option 41D : 94891121163
Status : Answered
Chosen Option: 1




Q.89 ?mwmwrﬁirw A B, C, D 3R E, #r 2017 3k 2018 & g% g=ae #r Ry &1 geffer
I

D 75

I

T T,
SRS

g@= (Shops), & (Sales),
g A Y gl et B Fo B AR g D @t a6t F g R # ame w@e S

Ans  f1.7:-86
<21:3
<36:5
K45:3
Question ID : 9489115292
Option 11D : 94891121168
Option 2 ID : 94891121166
Option 31D : 94891121167
Option 4 ID : 94891121165
Status : Not Answered
Chosen Option : --
Q0 RrarFmm R AR AN F oIS aomt Fa s T m & AR &
FU:
X F T ¥ =l 91F W e g 47
&I
|. HHYFI0T TF FETT 9T g a7 T am
Il. X Z8RT THHWT Y coies 915 W AT § g AT T T
Ans ; . -
X1 3T 11 @t urone fAfEa &
X 2 Faer arom | AfgT &
Vi g araror | 3R F & RfEE §
X 4 Faer arom || AT B
Question ID : 9489115281
Option 11D : 94891121124
Option 2 ID : 94891121121
Option 31D : 94891121123
Option 4 ID : 94891121122
Status : Answered
Chosen Option: 3




Q91 Rw 7w et ik Tt e F 9| T A T H TG F & T ATl qE g, o & TE
T A Td el T mas T Rrw oot dssosm mass g

Ans

et S B7

EairN

. o 3F soeer &

1. @i 3 Foa F=ar £

forseRs;

I. T8T 9% & St 9 Soodr T8 8, ¥ off FuT e £

Il. Jt 3% 3o 78 ¥, Swr 78 ¥ & ¥ sua v &

X 1. Faer Trsey || e FIaT ¢

X2 gar oy | 3w T &Il 9T =T gl
v 3 Fger TsEY | gTerT T &)

X+ ey | 3R 1 St gres = B

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

1 9489115277
194891121106
194891121108
194891121105
194891121107
. Answered
Chosen Option :

4

Q.92 g R wog T o E Gt @ &7 5l e ¥ oF wEe € 3R o e §) IR S T

Ans

v 1 XWVT
< 2 NMLK
« 3. FEDC
~ 4 SRQP

Question ID
Option 11D
Option 2 ID

1 9489115294
194891121174
194891121176
Option 31D :
Option 41D :
Status :
Chosen Option :

94891121175
94891121173
Answered

1




Q.93 fafr mz smor &, UNSURE & ELGEHU foram e &1 8 & st # fofafas & & 58 YNYHM

T Sreen?

Ans o 1. ALARM
< 2. ALONE
# 3. TELGU
# 4 MONEY

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status:

Chosen Option :

9489115274

94891121095
94891121094
94891121093
94891121096
Not Answered

Q.94 fm 7w e F AEEE HeETa w AR 3§ TE # TwA Y, S g6 v B (7) & e WO

TR B
3
X0 X
Ans X111
v'210
<3 20
< 4 31
Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status
Chosen Option :

1 9489115283
194891121131
194891121129
194891121130
194891121132
: Answered

2




Q95 Rro av garg #r 9 R g F I &
& B A7 @ s T @ d9ee wese g Bl
SeE: I8 T F47 g1 9% Rar GER §4C T wF dasw o wfese g g
AT F 3 F FUS F TN A T T F FAT AAA 87
e X 2= @ AT Tarfese d9de e B
X 2 %ﬁr#ﬁmﬁ;mﬂmﬁaﬁl
X 3
3 B A @GR TAT W FT Aefhe TRSE AL B

v 4 Faer 3 AT TErfese Y aaTar B

Question ID : 9489115282
Option 11D : 94891121127
Option 2 1D : 94891121126
Option 31D : 94891121128
Option 4 1D : 94891121125
Status : Answered
Chosen Option : 1
Q96 A B, C D EF GaNHAR H G Rar g G F & sedlar 915 &, F, E $1 gaeltdr 7a1¢ 2,
EDHFAGTD CHaETIB HF ATEgsAm oI aRFaaf@g SrcaAT
e X T T de
X2 Rrar & far
Vo gT F I FT ST
X 4 Ryar & &r
Question ID : 9489115279
Option 11D : 94891121113
Option 21D : 94891121114
Option 31D : 94891121116
Option 41D : 94891121115
Status : Not Answered
Chosen Option : --




Q.97 ws @f=Ea T A #, AR '924' F HY They like tomato' 7, '935' & 3% "We love tomato’ & 3
'956' T 39 ‘tomato love mango' g, @l ‘mango’ & T forg 3w &1 39T foFam T 2

Ans x 1. g
<22
V36
<4 4
Question ID : 9489115276
Option 11D : 94891121104
Option 2 ID : 94891121101
Option 31D : 94891121103
Option 4 ID : 94891121102
Status : Answered
Chosen Option : 3
Q.98 Rw 7w Yoot # AEEE HeTTA B AN IH TEA H TOF HE, S 50H T FeA (7) F TUH WA
TR Bl
/5N /N AN
> <= P> <P
N/ \Y/ \/
Ans x 1. 6
V213
X 11
<418
Question ID : 9489115285
Option 11D : 94891121137
Option 2 ID : 94891121139
Option 31D : 94891121138
Option 4 ID : 94891121140
Status : Not Answered
Chosen Option : --
Q.99 ofy w3 anf wwr §, o T FFE, o0 F AT weEar §, AR w o qow §, & et
AF FT T Tohaal gm?
[{ox18)-(3)}+ 5-2)]
1
Ans x 1. 4
<21
<33
a2
Question ID : 9489115287
Option 11D : 94891121148
Option 2 1D : 94891121145
Option 31D : 94891121147
Option 41D : 94891121146
Status : Not Answered
Chosen Option : --




T v gREr (Huy
X 2. HA&HEr F ST (Cobweb)
X 3. f&er (Burrow)
X 4 #AE (Den)

Q.100 =17 sreg faw ot §, T & 99 ol g & vs GA ¥ 3 ve e ¥ aweE & oaaa w0

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489115293
94891121170
94891121172
94891121171
94891121169
Answered

1
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